Three classes of nonextensive entropies characterized by Shannon additivity and pseudoadditivity

須鎗弘樹

Hiroki Suyari 千葉大学工学部情報画像工学科 Department of Information and Image Sciences, Faculty of Engineering, Chiba University 1-33, Yayoi-cho, Inage-ku, Chiba-shi, Chiba, 263-8522 Japan email:suyari@faculty.chiba-u.jp

Abstract

Nonextensive entropies are divided into three classes, each of which is characterized by Shannon additivity and pseudoadditivity. One of the three classes has properties of both additivities. The remaining classes have only one property of the two additivities, respectively. An example of nonextensive entropy is shown concretely for each class. In particular, one class is found to consist of only Tsallis entropy. More precisely, Tsallis entropy is proved to be uniquely determined by only these two additivities. The present classification using these two distinct additivities reveals unique characteristics of Tsallis entropy.

1 Introduction

Shannon additivity and pseudoadditivity are characteristic properties of Tsallis entropy [1]. Both of these additivities are nonextensive generalizations of the standard additivity in extensive systems. Although these properties appear to be similar in the sense that both additivities are given by the formulations of the entropy for the composite systems, A and B, they are actually different. When two systems, A and B, are mutually independent, in extensive systems, the Shannon additivity coincides with the pseudoadditivity, but in nonextensive systems, this coincidence generally does not hold.

In the present paper, these two additivities are applied to characterization of three classes of nonextensive entropies. One of the three classes is characterized by satisfying both of these additivities, and the remaining two classes are characterized by satisfying only one or the other of the two additivities. An example of nonextensive entropy is shown concretely for each class. In addition, Tsallis entropy is uniquely determined by only these two additivities. In the present paper, both the original Tsallis entropy and the normalized Tsallis entropy are discussed.

2 Shannon additivity and pseudoadditivity of the original Tsallis Entropy

The original Tsallis entropy S_q [2] is given by

$$S_q(p_1, \cdots, p_n) := rac{1 - \sum\limits_{i=1}^n p_i^q}{q - 1}$$
 (2.1)

where $q \in R^+$. This nonextensive entropy is one-parameter generalization of Shannon entropy in the sense that

$$\lim_{q \to 1} S_q = S_1 := -\sum_{i=1}^n p_i \ln p_i.$$
(2.2)

The Shannon additivity [3] and the pseudoadditivity [1] of the original Tsallis entropy are given by followings:

(1) Shannon additivity:

$$\forall i = 1, \dots, n, \forall j = 1, \dots, m_i : p_{ij} \ge 0, \quad p_i = \sum_{j=1}^{m_i} p_{ij}, \quad \sum_{i=1}^n p_i = 1,$$
 (2.3)

$$S_q(p_{11}, \cdots, p_{nm_n}) = S_q(p_1, \cdots, p_n) + \sum_{i=1}^n p_i^q S_q\left(\frac{p_{i1}}{p_i}, \cdots, \frac{p_{im_i}}{p_i}\right).$$
(2.4)

(2) pseudoadditivity:

$$S_q(A,B) = S_q(A) + S_q(B) + (1-q)S_q(A)S_q(B)$$
(2.5)

where A and B are mutually independent finite event systems:

£

$$A = \begin{pmatrix} A_1 & \cdots & A_n \\ p_1^A & \cdots & p_n^A \end{pmatrix}, \quad B = \begin{pmatrix} B_1 & \cdots & B_m \\ p_1^B & \cdots & p_m^B \end{pmatrix}.$$
 (2.6)

These two additivities, Eqs.(2.4) and (2.5), can be proven in a straightforward manner using the definition given in Eq.(2.1). If the condition of independence given by Eq.(2.6):

$$\forall i = 1, \cdots, n, \ \forall j = 1, \cdots, m : p_{ij} = p_i \cdot p_j, \tag{2.7}$$

is applied to the Shannon additivity given by Eq.(2.4), then the equation is simplified to

$$S_q(p_{11}, \dots, p_{nm}) = S_q(p_1, \dots, p_n) + \left(\sum_{i=1}^n p_i^q\right) S_q(p_1, \dots, p_m).$$
(2.8)

Here, we take $m := m_i$ for all $i = 1, \dots, n$. In terms of the following notations:

$$\forall i = 1, \cdots, n : p_i := p_i^A, \ \forall j = 1, \cdots, m : p_j := p_j^B,$$
(2.9)

$$S_q(A) = S_q(p_1, \dots, p_n), \ S_q(B) = S_q(p_1, \dots, p_m)$$
 (2.10)

the obtained Shannon additivity, Eq.(2.8), is written as

$$S_q(A,B) = S_q(A) + \left(\sum_{i=1}^n p_i^q\right) S_q(B).$$
(2.11)

Note that in the case of q = 1 (extensive systems), the Shannon additivity finally reaches

$$S_1(A,B) = S_1(A) + S_1(B),$$
 (2.12)

which coincides with the pseudoadditivity of Eq.(2.5). In this way, when two systems, A and B, are mutually independent in the extensive systems, the Shannon additivity coincides with the pseudoadditivity.

However, under the above condition of independence, Eq.(2.6), in nonextensive systems, these two additivities differ from each other in the sense that one additivity cannot be derived from the other. Comparing Eqs.(2.5) and (2.11), these additivities do not coincide with each other.

Therefore, the nonextensive entropies are divided into the following three classes:

Class 1: Nonextensive entropy $S_q^{(1)}$ satisfying both additivities

Class 2: Nonextensive entropy $S_q^{(2)}$ satisfying only the Shannon additivity

Class 3: Nonextensive entropy $S_q^{(3)}$ satisfying only the pseudoadditivity

Here, we need a condition that all nonextensive entropies should satisfy Eq.(2.2).

Examples of each class of nonextensive entropy will be shown concretely in order to reveal the difference between the two additivities.

First, we uniquely derive the nonextensive entropy $S_q^{(1)}$ of Class 1 from only these two additivities, and the obtained entropy is found to coincide with the original Tsallis entropy.

If two systems, A and B, are mutually independent in the nonextensive systems, then the two additivities are given by Eqs.(2.5) and (2.11), respectively. Eliminating $S_q(A, B)$ from both Eqs.(2.5) and (2.11) yields

$$S_q^{(1)}(A) + S_q^{(1)}(B) + (1-q) S_q^{(1)}(A) S_q(B) = S_q^{(1)}(A) + \left(\sum_{i=1}^n p_i^q\right) S_q^{(1)}(B).$$
(2.13)

Therefore, the original Tsallis entropy, Eq.(2.1), is directly derived from Eq.(2.13), as follows:

$$S_q^{(1)}(A) = \frac{1 - \sum_{i=1}^n p_i^q}{q - 1}$$
(2.14)

Note that in this derivation only the Shannon additivity and pseudoadditivity are used. In other words, these two additivities uniquely determine the original Tsallis entropy.

We must note here that our derivation is not consistent with the result reported in [4]. As reported in [4], the four conditions: (i) continuity, (ii) increasing monotonicity, (iii) pseudoadditivity, Eq.(2.5), and (iv) Shannon additivity, Eq.(2.4), are given as axioms of the original Tsallis entropy and the uniqueness theorem thereof is proven. Note that the Shannon additivity in [4] is a special case of Eq.(2.4). The generalization of the Shannon additivity in [4] to Eq.(2.4) is straightforward [1, 5]. In the present derivation, we uniquely determine Tsallis entropy using only two axioms, (iii) and (iv) described above. Therefore, the above four conditions in [4] are *redundant* axioms of Tsallis entropy. Thus, these two additivities become self-consistent axioms of the original Tsallis entropy, but complete parallelism does not exist between the Shannon-Khinchin axioms and the two additivities [6].

Next, we consider the following example of the nonextensive entropy $S_q^{(2)}$ of Class 2,

$$S_q^{(2)}(p_1, \cdots, p_n) := \frac{1 - \sum_{i=1}^n p_i^q}{\varphi(q)}$$
(2.15)

where $\varphi(q)$ is a differentiable function with respect to any $q \in R^+$, satisfying

$$\lim_{q \to 1} \frac{d\varphi(q)}{dq} = 1, \quad \lim_{q \to 1} \varphi(q) = \varphi(1) = 0, \quad \varphi(q) \neq 0 \quad (q \neq 1), \quad \text{and} \quad \varphi(q) \neq q - 1.$$
(2.16)

The difference in $S_q^{(2)}$ from that of the original Tsallis entropy, Eq.(2.1), is only the denominator $\varphi(q)$. Hence, the last condition of Eq.(2.16) is required in order to belong to Class 2. The following equation for $\varphi(q)$ is an example satisfying all conditions of Eq.(2.16),

$$\varphi(q) = \frac{(q-1)(q^2+1)}{2}.$$
 (2.17)

We must confirm that the nonextensive entropy $S_q^{(2)}$ belongs to Class 2. Using l'Hospital's rule, we have

$$\lim_{q \to 1} S_q^{(2)} = \lim_{q \to 1} \frac{1 - \sum_{i=1}^n p_i^q}{\varphi(q)} = \lim_{q \to 1} \frac{-\sum_{i=1}^n p_i^q \ln p_i}{\frac{d\varphi(q)}{dq}} = -\sum_{i=1}^n p_i \ln p_i = S_1.$$
(2.18)

Thus, $S_q^{(2)}$ satisfies condition of Eq.(2.2). $S_q^{(2)}$ is found to have the property of the Shannon additivity, Eq.(2.4), as follows:

$$S_{q}^{(2)}(p_{1}, \dots, p_{n}) + \sum_{i=1}^{n} p_{i}^{q} S_{q}^{(2)} \left(\frac{p_{i1}}{p_{i}}, \dots, \frac{p_{im_{i}}}{p_{i}} \right) = \frac{1 - \sum_{i=1}^{n} p_{i}^{q}}{\varphi(q)} + \sum_{i=1}^{n} \left(p_{i}^{q} \cdot \frac{1 - \sum_{j=1}^{m_{i}} \left(\frac{p_{ij}}{p_{i}} \right)^{q}}{\varphi(q)} \right)$$
$$= S_{q}^{(2)}(p_{11}, \dots, p_{nm_{n}}).$$

However, $S_q^{(2)}$ does not satisfy the pseudoadditivity of Eq.(2.5).

$$S_q^{(2)}(A,B) \neq S_q^{(2)}(A) + S_q^{(2)}(B) + (1-q) S_q^{(2)}(A) S_q^{(2)}(B)$$
(2.19)

Thus, $S_q^{(2)}$ belongs to Class 2. Finally, we consider the nonextensive entropies of Class 3 in the following example:

$$S_q^{(3)}(p_1, \cdots, p_n) := \frac{\sum_{i=1}^n p_i^{q^{-1}} \left(p_i^{q^{-1}} - 1 \right)}{(1-q) \sum_{i=1}^n p_i^{q^{-1}}} = \frac{\sum_{i=1}^n p_i^{q+q^{-1}-1} - \sum_{i=1}^n p_i^{q^{-1}}}{(1-q) \sum_{i=1}^n p_i^{q^{-1}}}$$
(2.20)

Again, using l'Hospital's rule, we have

$$\lim_{q \to 1} S_q^{(3)} = \lim_{q \to 1} \frac{\sum_{i=1}^n p_i^{q+q^{-1}-1} - \sum_{i=1}^n p_i^{q^{-1}}}{(1-q)\sum_{i=1}^n p_i^{q^{-1}}} = \lim_{q \to 1} \frac{\left(1 - \frac{1}{q^2}\right)\sum_{i=1}^n p_i^q \ln p_i + \frac{1}{q^2}\sum_{i=1}^n p_i^{q^{-1}} \ln p_i}{-\sum_{i=1}^n p_i^{q^{-1}} - (1-q)\frac{1}{q^2}\sum_{i=1}^n p_i^{q^{-1}} \ln p_i}}$$
$$= \frac{\sum_{i=1}^n p_i \ln p_i}{-1} = -\sum_{i=1}^n p_i \ln p_i = S_1.$$
(2.21)

Thus, $S_q^{(3)}$ satisfies condition of Eq.(2.2). $S_q^{(3)}$ can be easily found to satisfy the pseudoadditivity of Eq.(2.5).

$$S_q^{(3)}(A,B) = S_q^{(3)}(A) + S_q^{(3)}(B) + (1-q) S_q^{(3)}(A) S_q^{(3)}(B)$$
(2.22)

However, the Shannon additivity of Eq.(2.4) does not hold for $S_q^{(3)}$. Accordingly, $S_q^{(3)}$ belongs to Class 3.

3 Shannon additivity and pseudoadditivity of the normalized **Tsallis Entropy**

The normalized Tsallis entropy \hat{S}_q was first introduced in [8] as one candidate of the generalized nonextensive entropies. The requirement for the normalized Tsallis entropy is presented based on the principle of the form invariance of Kullback-Leibler entropy [9]. or on that of the pseudoadditivity [?], respectively. The normalized Tsallis entropy \hat{S}_q [8, 9, 10] is given by

$$\hat{S}_{q}(p_{1},\cdots,p_{n}) := \frac{1 - \sum_{i=1}^{n} p_{i}^{q}}{(q-1) \sum_{j=1}^{n} p_{j}^{q}}$$
(3.23)

where $q \in \mathbb{R}^+$. This nonextensive entropy is also a one-parameter generalization of Shannon entropy in the sense that

$$\lim_{q \to 1} \hat{S}_q = S_1 = -\sum_{i=1}^n p_i \ln p_i.$$
(3.24)

The Shannon additivity and the pseudoadditivity [1] of the normalized Tsallis entropy are given by the followings:

(1) Shannon additivity:

$$\forall i = 1, \dots, n, \forall j = 1, \dots, m_i : p_{ij} \ge 0, \quad p_i = \sum_{j=1}^{m_i} p_{ij}, \quad \sum_{i=1}^n p_i = 1,$$
 (3.25)

$$\left(\sum_{i=1}^{n}\sum_{j=1}^{m_{i}}p_{ij}^{q}\right)\hat{S}_{q}(p_{11}, \dots, p_{1m_{1}}, \dots, p_{n1}, \dots, p_{nm_{n}}) \\
= \left(\sum_{i=1}^{n}p_{i}^{q}\right)\hat{S}_{q}(p_{1}, \dots, p_{n}) + \sum_{i=1}^{n}\sum_{j=1}^{m_{i}}p_{ij}^{q}\hat{S}_{q}\left(\frac{p_{i1}}{p_{i}}, \dots, \frac{p_{im_{i}}}{p_{i}}\right)$$
(3.26)

(2) pseudoadditivity:

$$\hat{S}_{q}(A,B) = \hat{S}_{q}(A) + \hat{S}_{q}(B) + (q-1)\hat{S}_{q}(A)\hat{S}_{q}(B)$$
(3.27)

where A and B are mutually independent finite event systems given by Eq.(2.6).

The two additivities given by Eqs.(3.26) and (3.27) are proven using the definition given in Eq.(3.23). Note that the difference between the two Shannon additivities given by Eqs.(2.4) and (3.26) is due to the normalization of Tsallis entropy. The two Tsallis entropies S_q and \hat{S}_q defined by Eqs.(2.1) and (3.23) yield the following relation:

$$S_q(p_1, \dots, p_n) = \left(\sum_{j=1}^n p_j^q\right) \hat{S}_q(p_1, \dots, p_n).$$
 (3.28)

Thus, substituting Eq.(3.28) into Eq.(2.4) yields the Shannon additivity of Eq.(3.26) for the normalized Tsallis entropy \hat{S}_q . Another difference in pseudoadditivity is that the coefficient "1 – q" in front of the cross term in the right-hand side of the pseudoadditivity of Eq.(2.5) is the inverse of "q-1" in Eq.(3.27). The reason for this difference is the normalization of the original Tsallis entropy, which is discussed in detail in our paper [10].

Similar to the case of the original Tsallis entropy, the condition of independence given by Eq.(2.6) is applied to the Shannon additivity of Eq.(3.26), which yields

$$\left(\sum_{j=1}^{m} p_{j}^{q}\right) \hat{S}_{q}(A,B) = \hat{S}_{q}(A) + \left(\sum_{j=1}^{m} p_{j}^{q}\right) \hat{S}_{q}(B).$$
(3.29)

Here, we take $m := m_i$ for all $i = 1, \dots, n$. Note that in the case of q = 1 (extensive systems) the Shannon additivity becomes the standard additivity of Eq.(2.12), which coincides with the pseudoadditivity of

Eq.(3.27). In this way, when two systems, A and B, are mutually independent in the extensive systems, the Shannon additivity coincides with the pseudoadditivity.

However, under the above condition of independence in the nonextensive systems, these two additivities differ from each other in the sense that one additivity cannot be derived from the other. Comparing Eqs. (3.27) and (3.29), these additivities do not coincide with each other.

Therefore, the normalized nonextensive entropies are divided into the following three classes:

Class 1: Nonextensive entropies $\hat{S}_{q}^{(1)}$ satisfying both additivities

Class 2: Nonextensive entropies $\hat{S}_q^{(2)}$ satisfying only the Shannon additivity

Class 3: Nonextensive entropies $\hat{S}_q^{(3)}$ satisfying only the pseudoadditivity

Here, we need a condition that all nonextensive entropies should satisfy Eq.(3.24).

Examples of each class of nonextensive entropy in each class will be shown concretely in order to reveal the difference between the two additivities.

First, we uniquely derive the nonextensive entropy $\hat{S}_q^{(1)}$ of Class 1 as in the previous section. If two systems, A and B, are mutually independent in the extensive systems, then the two additivities are given by Eqs.(3.27) and (3.29), respectively. Eliminating $S_q(A, B)$ from both Eqs.(3.27) and (3.29) yields

$$\left(\sum_{j=1}^{m} p_{j}^{q}\right) \left\{ \hat{S}_{q}(A) + \hat{S}_{q}(B) + (q-1)\,\hat{S}_{q}(A)\,\hat{S}_{q}(B) \right\} = \hat{S}_{q}(A) + \left(\sum_{j=1}^{m} p_{j}^{q}\right)\hat{S}_{q}(B) \,. \tag{3.30}$$

Therefore, the normalized Tsallis entropy of Eq. (3.23) is directly derived from Eq. (3.30) as follows:

$$\hat{S}_{q}^{(1)}(B) = \frac{1 - \sum_{i=1}^{m} p_{i}^{q}}{(q-1) \sum_{j=1}^{m} p_{j}^{q}}$$
(3.31)

Note that in this derivation only the Shannon additivity and pseudoadditivity are used. In other words, these two additivities uniquely determine the normalized Tsallis entropy, similar to the case of the original Tsallis entropy.

Next, we consider the following example of the nonextensive entropy $\hat{S}_{q}^{(2)}$ of Class 2,

$$\hat{S}_{q}^{(2)}(p_{1},\cdots,p_{n}) := \frac{1 - \sum_{i=1}^{n} p_{i}^{q}}{\varphi(q) \sum_{i=1}^{n} p_{j}^{q}}$$
(3.32)

where $\varphi(q)$ is a differentiable function with respect to any $q \in \mathbb{R}^+$, satisfying the conditions of Eq.(2.16). Here, we must verify that the nonextensive entropy $\hat{S}_q^{(2)}$ belongs to Class 2. Using l'Hospital's rule, we have

$$\lim_{q \to 1} \hat{S}_{q}^{(2)} = \lim_{q \to 1} \frac{1 - \sum_{i=1}^{n} p_{i}^{q}}{\varphi(q) \sum_{j=1}^{n} p_{j}^{q}} = \lim_{q \to 1} \frac{-\sum_{i=1}^{n} p_{i}^{q} \ln p_{i}}{\frac{d\varphi(q)}{dq} \sum_{j=1}^{n} p_{j}^{q} + \varphi(q) \sum_{j=1}^{n} p_{j}^{q} \ln p_{j}} = -\sum_{i=1}^{n} p_{i} \ln p_{i} = S_{1}.$$
 (3.33)

Thus, $\hat{S}_q^{(2)}$ satisfies the condition of Eq.(3.24). $\hat{S}_q^{(2)}$ is found to have the property of the Shannon additivity Eq.(3.26).

However, $\hat{S}_q^{(2)}$ does not satisfy the pseudoadditivity of Eq.(3.27)

$$\hat{S}_{q}^{(2)}(A,B) \neq \hat{S}_{q}^{(2)}(A) + \hat{S}_{q}^{(2)}(B) + (q-1)\hat{S}_{q}^{(2)}(A)\hat{S}_{q}^{(2)}(B).$$
(3.34)

Thus, $\hat{S}_q^{(2)}$ belongs to Class 2.

Finally, we consider the nonextensive entropies of Class 3 in the following example:

$$\hat{S}_{q}^{(3)} := \frac{\sum_{i=1}^{n} p_{i}^{\frac{q^{2}+1}{2}} \left(p_{i}^{1-q}-1\right)}{\left(q-1\right) \sum_{i=1}^{n} p_{i}^{\frac{q^{2}+1}{2}}} = \frac{\sum_{i=1}^{n} p_{i}^{\frac{q^{2}-2q+3}{2}} - \sum_{i=1}^{n} p_{i}^{\frac{q^{2}+1}{2}}}{\left(q-1\right) \sum_{i=1}^{n} p_{i}^{\frac{q^{2}+1}{2}}}$$
(3.35)

Again, using l'Hospital rule, we have

$$\lim_{q \to 1} \hat{S}_{q}^{(3)} = \lim_{q \to 1} \frac{\sum_{i=1}^{n} p_{i}^{\frac{q^{2}-2q+3}{2}} - \sum_{i=1}^{n} p_{i}^{\frac{q^{2}+1}{2}}}{(q-1) \sum_{j=1}^{n} p_{j}^{\frac{q^{2}+1}{2}}} = \lim_{q \to 1} \frac{(q-1) \sum_{i=1}^{n} p_{i}^{\frac{q^{2}-2q+3}{2}} \ln p_{i} - q \sum_{i=1}^{n} p_{i}^{\frac{q^{2}+1}{2}} \ln p_{i}}{\sum_{j=1}^{n} p_{j}^{\frac{q^{2}+1}{2}} + q (q-1) \sum_{j=1}^{n} p_{j}^{\frac{q^{2}+1}{2}} \ln p_{j}}$$
$$= \frac{-\sum_{i=1}^{n} p_{i} \ln p_{i}}{1} = -\sum_{i=1}^{n} p_{i} \ln p_{i} = S_{1}$$
(3.36)

Thus, $\hat{S}_q^{(3)}$ satisfies the condition of Eq.(3.24). In addition, $\hat{S}_q^{(3)}$ is verified to have the property of pseudoadditivity of Eq.(3.27).

$$\hat{S}_{q}^{(3)}(A,B) = \hat{S}_{q}^{(3)}(A) + \hat{S}_{q}^{(3)}(B) + (q-1)\hat{S}_{q}^{(3)}(A)\hat{S}_{q}^{(3)}(B)$$
(3.37)

However, the Shannon additivity of Eq.(3.26) does not hold for $\hat{S}_q^{(3)}$. Accordingly, $\hat{S}_q^{(3)}$ belongs to Class 3.

4 Conclusion

We have shown that the nonextensive entropies can be divided into three classes which are characterized by the Shannon additivity and the pseudoadditivity. An example of each class is shown concretely and these two distinct additivities reveal the following peculiarities of Tsallis entropy.

First, Tsallis entropy is uniquely determined by only these two additivities. Thus, these two additivities constitute the axioms of Tsallis entropy. However, these axioms are *not* a naturally generalization of the Shannon-Khinchin axioms in extensive systems due to the lack of complete parallelism between them.

Secondly, there exist nonextensive entropies satisfying only one of the two additivities. Accordingly, for the construction of the general axioms for Tsallis entropy, unsatisfactory axioms consisting of these two additivities are observed. In other words, axioms that include both additivities are redundant.

References

- [1] C. Tsallis et al., Nonextensive Statistical Mechanics and Its Applications, edited by S. Abe and Y. Okamoto (Springer-Verlag, Heidelberg, 2001); この分野の包括的論文リストは次のサイトを参照 http://tsallis.cat.cbpf.br/biblio.htm
- [2] C. Tsallis, "Possible generalization of Boltzmann-Gibbs statistics", J. Stat. Phys. 52, 479-487 (1988).
- [3] E.M.F. Curado and C. Tsallis, "Generalized statistical mechanics: connection with thermodynamics", J. Phys. A 24, L69-L72 (1991); Corrigenda 24, 3187 (1991); 25, 1019 (1992).

- [4] R.J.V. dos Santos, "Generalization of Shannon's theorem for Tsallis entropy", J. Math. Phys. 38, 4104-4107 (1997).
- [5] C. Tsallis, "Some comments on Boltzmann-Gibbs statistical mechanics", Chaos, Solitons and Fractals 6, 539-559 (1995).
- [6] H. Suyari, "On the most concise set of axioms and the uniqueness theorem for Tsallis entropy", J. Phys. A., 35, 10731-10738 (2002).
- [7] S. Abe, "Axioms and uniqueness theorem for Tsallis entropy", Phys. Lett. A 271, 74-79 (2000).
- [8] P.T. Landsberg and V. Vedral, "Distributions and channel capacities in generalized statistical mechanics", Phys. Lett. A 247, 211-217 (1998).
- [9] A.K. Rajagopal and S. Abe, "Implications of Form Invariance to the Structure of Nonextensive Entropies", Phys. Rev. Lett. 83, 1711-1714 (1999).
- [10] H. Suyari, "Nonextensive entropies derived from form invariance of pseudoadditivity", Phys. Rev. E 65, 066118 (7pages) (2002).
- [11] H. Suyari, "The uniqueness theorem for the nonextensive entropy", Proc. 2003 IEEE Int.Symp.Inform.Theory, 260 (2003).